R PROFESSIONAL EXAMINATION BOARD
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Topic:- General Knowledge

1) ISRO recently tested the indigenously developed Cryogenic Upper Stage (CUS) for the use of

which one of the following rockets? /Wﬁﬁﬁﬁﬁﬁﬁ@ﬁﬁﬁﬁh@%
IUART & fore wWeRh ¥ A el e Sudl wu @figea) s1udteor fFar g2

1. GSLV Mk-III
2. PSLV C38
3. INSAT-2E

4. IRS-1C

Correct Answer :-

« GSLV Mk-III

2) World Literacy Day is celebrated every year on which date? / u?[aa? a4 fay TreRar feaw
¥ feaie ot w=mar ST 82

1. 5t April 5/ 30

2. 8 September / 8 IRIGLSKS
3. 24™ June / 24 97

4. 20" August / 20 ST

Correct Answer :-

« 8t September / 8 R

3) Where are the famous Dilwara Temples situated at? / m ﬁ?ﬁ'l@ﬂ 'Fl'ﬁ? ﬁT @R‘T %'?

1. Maharashtra / IlERTg
2. Madhya Pradesh / H&J Uaxl



3. Karnataka / ®lcdh
4. Rajasthan / XTSTRJTT

Correct Answer :-

 Rajasthan / [STRJTq

4) How many medals did India win at US Open Karate Championship 2017? / 2017 QU 3N

FRIC AT & HRA A fFaq ues Sfia?
1.8
2.12
3.20

4. 16

Correct Answer :-

« 16

5) Which of the following is the highest gallantry award in India? /A FT I URT o

Hard dRd REPR 32

1. Shaurya Chakra / RINECED

2. Maha Vir Chakra / Il?l_qa?' deh
3. Kirti Chakra / ®ifdi aob

4. Param Vir Chakra / TR dR dsh

Correct Answer :-

« Param Vir Chakra / 3" 9 Tsh

6) Which one of the following cities has India's first vertical garden? / fada e Udh AgR |
YRA BT UGl SHeafeR ST 32

1. Bangalore / STAR
2. Hyderabad / %3?@3
3. Kochi / ST

4. Mumbai / &S



Correct Answer :-

« Bangalore / STAR

7) Which one of the following Indian personalities is to host Hindi version of international show

"TED Talks"? / 9 & @ S & To WRdIg afaaqa o SiaRTEHa 20 "TED Talks" & &
PR B} AT FAT 32

1. Naseeruddin Shah / '_'lmq QTe
2. Amitabh Bachchan / 3{HATH S
3. Amir Khan / 3{TER &

4. Shah Rukh Khan / RITg>d W[+

Correct Answer :-

« Shah Rukh Khan / RlTe>¥ W+

8) Which one of the following south Indian languages is considered to be the oldest? /

fFrafafEa aféor yrdia urarsi & @ 19 Wt T Ta wrh= yTen 9 St 32
1. Konkani / i Uit

2. Tamil / T8

3. Telugu / AL

4, Malayalam / HeTUTCH

Correct Answer :-

« Tamil / A

9) Which one of the following sites is not located in Delhi? / ﬁ'ﬂﬁl@ﬁ A DA Vd, ﬁﬁ
A Ry 18 82

1. Rajpath / XTSTTY

2. Buland Darwaza / §ciG GRaTGll

3. Qutub Minar / SIEHIMR

4. Red Fort / AT fopa

Correct Answer :-



« Buland Darwaza / §¢iG GGl

10) The Mudumalai National Park is located in which one of the following states? / gg'n?ni

gt S Fu A A fru o T A Ra B2
1. Odisha / 3SR

2. Karnataka / 1c®

3. Rajasthan / XTSI

4. Tamil Nadu/ama:ll§

Correct Answer :-

e Tamil Nadu / alila'_‘||§

11) Who is the first Indian Army officer to be promoted to the five star rank of field marshal? /

Wics AR & Uig RIART ¥ d Ugiad o3 a1 Ugd UIRAH A1 & SIS B4 §2
1. Rajendrasinhji Jadeja / ol Rigsl STaol

2. Arjan Singh / 35 Rig

3. K M Cariappa / & TH SR

4. Sam Manekshaw / SH HTOIGRIT

Correct Answer :-

« Sam Manekshaw / ﬁﬂ IIT@WT

12) Who is the newly appointed spokesperson of India's Ministry of External Affairs? / HIRd &

fac=r daaTera & 19 g yaad w19 82
1. Deepak Mittal / diue ford
2. Mridu Pawan Das / §{g Ud- alq

3. Vikas Swarup / faeg WEy
4. Gopal Baglay / T SRTA

Correct Answer :-

» Gopal Baglay / PSR



13) Who recently launched the mobile app named “Selfie with Daughter”? / §Td 81 § fo

Tt fag STex” AT HiaTsd TU @l-d B 82
1. Raj Nath Singh / oY g
2. Narendra Modi / '_'Q_S{ ﬁ'cﬁ

3. Pranab Mukherjee / YUId H“@\_rﬁ
4. Hamid Ansari/ fﬂﬂ_ﬁ" 3R

Correct Answer :-

 Pranab Mukherjee / YUId H’@Gﬁ

14) Who was the winner of the Australian Open Super Series badminton tournament in 2017? /

2017 § ST 3u= guR AR dsfiies gatve &1 fasar #i9 ur
1. Srikanth Kidambi / Siebid fbdet

2. Nanda Gopal / EERIPIG]

3. Sai Praneeth / ﬂ'l_sc quft

4. Pullella Gopichand / ﬂﬁfﬂ UINIE

Correct Answer :-

« Srikanth Kidambi / fipid fhcal

15) Who held the office of the Vice President of India for two consecutive terms? / HIRd &

SWIPUTT Ug W AR &l 3rafy 9 H19 51 332
1. Shankar Dayal Sharma / X[ GITe TrAf

2. Rajendra Prasad / ISl UG

3. Zail Singh / 91d Rig

4. S. Radhakrishnan / . X[UTHTF

Correct Answer :-

« S. Radhakrishnan / U{. JTUTH [T

16) Who built the Khajuraho temples? / T9RTe! HfeR} T fAwTUr fFam wearar

1. Nandas / &l



2. The Mauryas / g
3. The Chandellas / aﬁﬁ
4. The Kanvas / hTdl

Correct Answer :-

o The Chandellas / ﬂ%ﬁ

Topic:- General Hindi

1) «FaR B! Giord fib? Hfd TREMT TR 1” A $I4 A1 3EHR 32
1. SfIRRAHT SiHR

2. TV SABR

3. 3IUNT (PR

4. Yo AAPR

Correct Answer :-

. Y ABR

2) “YUITH B GG B! Ped o |
1, TIRBR

2. YUY
3. THA

4. YUITH

Correct Answer :-

3) “faermera ® wyga AfY &1 AW Iagl
1. TR Y

2. 41 TfY

3. ol Y



4. 3{Tie Y

Correct Answer :-

. A g

5) «qART” | B AT U g 22
1. 3RT

2.
3. W

4. 31

Correct Answer :-

Ry

6) TFPT DT dTT & |

1. Ydl
2. bl
3. U
4. Udl

Correct Answer :-



7) HTGdTA 1 91 B I 32
1. g § a1 el T

2. §H IS

3. g alSd g

4. 30 4 BIs g1

Correct Answer :-

. g T greT T8 T

8) «3TE fIPTa I W1, &1 U IS HR M AT I H B AT 32
1. ARG

2. YO I

3. 3GHA T

4. UG T

Correct Answer :-

. AHI T

9) Ig I WGl THH YT A gl |
1. faefe
2. T
3.7
4. G

Correct Answer :-




4.9,4,49

Correct Answer :-

« P,

Correct Answer :-

- T

13) 390 | S 1 Y Jue arga 82
1. I DA ?

2. PRI SN Bl 2

3. 1Y 81 ST 2

4. 9 ol SR 1

Correct Answer :-

. U TRl SIS 1



14) “¥X BT Ul GPT ¢ Hgrad o1 A4 8 |
1. IR &1 N fodt &1 A1 g ara|

2. IR &1 Wl depl fTRTT|

3. R P NG Y dDhT BT AT

4. 3T He A g |

Correct Answer :-

. U He A gTMA|

Topic:- General English

1) Choose appropriate articles for the given sentence:

As ___ resultof ___ meeting and subsequent frank talk, they were able to part as friends.
1. a, the

2. the, a

3.a3,a

4, an, the

Correct Answer :-

e 3, the

2) Choose the appropriate prepositions for the given sentence:

There was an overpowering smell ____ chlorine_____ the indoor pool.
1. through, across

2. of, in

3. with, from

4. in, through

Correct Answer :-



Choose the option that correctly sequences the following phrases:

. they manage to continue
. although

. are divorced

. Janet's parents

. as good friends

U B WN =

1. 23451
2. 54312
3.12435

4. 24315

Correct Answer :-
e 24315

4) Choose the correct form of phrasal verb for the given sentence:

How is Mohan ______in his new job? Is he enjoying it?
1. going on

2. getting on

3. carrying on

4, living on

Correct Answer :-

* getting on

5) Choose the correct form of linker for the given sentence:

He never returned to his constituency _______ he won the elections.
1. unless

2. when

3. because

4, after

Correct Answer :-

o after



6) Choose the most suitable determiner for the given sentence:

Do you want glass of milk?

1. many
2. another
3. more

4, each

Correct Answer :-

¢ another

7) Choose the correct sentence from the sentences given below:
1. The man to whom | was speaking is the manager of mine.

2. The man to who | was speaking is the manager.

3. The man is the manager to whom | was speaking.

4. The man whom | was speaking to is the manager.

Correct Answer :-
e The man whom | was speaking to is the manager.

8) Choose the right tag:

Itwon'train, ____ ?
1. isit

2.isn't it

3. won't it

4. will it

Correct Answer :-

o will it

9) Complete the sentence choosing the right option:



You can achieve better results
1. unless you work hard.

2. lest you should work hard.
3. if you work hard.

4. if you do not work hard.

Correct Answer :-

 if you work hard.

10) Complete the sentence choosing the right form of Prefix:

Please remain seated until we announce when you can plane.
1. de
2.un
3. dis

4. em

Correct Answer :-

e de

11) Choose the correct form of tense for the given sentence

Don't get that ink stain on your shirt, for it even after washing
1. isn't leaving

2. won't leave

3. won't be left

4, hasn't left

Correct Answer :-
e won't leave

12) Choose the word that is opposite in meaning to the word highlighted in the following sentence:

He spoke affably to the reporters.
1. rudely

2. politely



3. hastily

4. inaudibly

Correct Answer :-

e rudely

13) Choose the word that is closest in meaning to the word highlighted in the following sentence:

The youngsters will pit their skills for a week against the European mega football club FC Barcelona.
1. hide

2. falter

3. play off

4. tolerate

Correct Answer :-

« play off

14) Spot the error in the given sentence:

It is the dream of every mountaineers to climb the world's highest peak.
1. to climb

2. of every mountaineers

3. Itis the dream

4. the world's highest peak.

Correct Answer :-
« of every mountaineers

Topic:- General Mathematics

1 i N T —7 L . Y ]

) Thevalueof 'K in 72+ 73= Y70 is / 72 = 3= {710 ¥ “x" &I AT @ -
1.3

2.9

3.7



4.5

Correct Answer :-

2)

Ifthe curved surface area of a right circular cylinder of height 8cm is 96w cm?, then its radius is

| afg 8 FHAT 3 U &F g Joied T doh TSI &TAhe 96nTHE g, af ST
B &

1. 3cm/ 3 T

2. 4cm / 4 QY

3.2cm /2 I

4. 6cm / 6 T

Correct Answer :-

. 6cm/6@1:ﬁ

3)
Day : Mon | Tue | Wed | Thu | Fri | Sat | Sun
Rainfall{in
mm) 3.1 535 | D2 253 | 2E2 | 49 | 24
The above table gives the rainfall (in mm) in a citv on 7 davs of a certain week. The range of the
above datais [/
feet - 9F | Al | g | 9% | ek | ofe | Xfd
qur (et 7) - 31 39 02 255 | 212 49 24
Waﬁwwﬁﬁaﬁma?ﬁ#%m&mﬁ@wwm (fas
) & 81 3uea ST T W § -
1.22.9
2.20.5

3.25.1



4,21

Correct Answer :-

« 25.1

4) One of the factors of the expression x* + V2x-24is /| a1 2 ++2x-24 & HIU'IFI'EET H
TUud f-

(x-2)
1.
(x-3v2)
2.
(x-242)
3.

Xt \."E
4, ( )

Correct Answer :-

(x-3v2)

5)  In a parallelogram ABCD if £A=§/_B=then £C=] U FAKR =Ig#=1 ABCD #,3fg A
=§¢B B darzc=

1. 800
2. 950
3. 1000
4,759

Correct Answer :-

. 800



Simplify [(D) ) + & | e X : (D + 4

)"

(e
4

Correct Answer :-

7) In an election, a candidate got 75% of the total valid votes, 12% of the total votes were
declared invalid. If the total number of votes is 800000, then the number of valid votes polled in
favour of the candidate is ./ ¥h g-dld ﬁ, U G'I:mm G| Pd Y el BT 75% UTd
foran, Ta dtel a1 12% ray N¥a far man| afe el #) $a T=am 800000 B, f SWHgaR
& g o ot Qe ) e 3|

1. 710000
2. 528000
3. 676000
4. 540000

Correct Answer :-

e 528000

8) Jaya took a loan of 25,000 rupees at the rate of 10% from a bank and bought a second-hand
scooter. After two years she cleared her loan. How much money she would have paid in all? /

ST A TP 9F A 10% P &2 | 25,000 FUY ST HUT forar Ud U IuanT faar g3 Wpex
WRIGT | ) ATd 916, 39 391 B g&1 a1 39 g fova=m Ywrar fosar grm?

1. Rs.30,000 / 30,000 =0



2. Rs.35,000 / 35,000 ==0d
3. Rs.5,000 / 5,000 30
4. Rs.25500 / 25,500 04

Correct Answer :-

« Rs.30,000 / 30,000 =T

9) 'x'is 15% of 'y' and 'y' is 12% of 'z'. If x = 945, then 'z' =/ “y” BT 15% “x” %HQIT “z” DI

12% “y” 81 g x =945 §, @ «2” =
1. 39860
2. 48600
3. 46430
4. 52500

Correct Answer :-

« 52500

10) A number is as much greater than 22 as it is less than 70. The number is ./ GPh
HEAT 22 | ora= SifR §, 70 | I 81 FH 7| 95 HE& gl

1. 66
2. 54
3.24

4. 46

Correct Answer :-

11) The outer and the inner diameters of a hollow cylindrical pipe of length 35¢cm are 12cm and
10cm respectively. The volume of the metal used in making the pipe is ./ 35 9t ?ng
e TP TWRAS deFTPR UTSY & a1g3t Ud W) =ars swaer: 12 99 3R 10 9 &1 urgy
T | Wgad YT BT S gl

1. 1845cm3 / 1845 THP



2. 1430cm3 / 143 9413
3. 1625cm> / 1625 9H3
4.1210cm>/ 1210 9H3

Correct Answer :-

« 1210cm3 /1210 991

12) The arithmetic mean of 12, 2,2 32, 42, and 5%is .112,2,2 32 42 Wd 52 T JHIAR
314231 gl

1. 11
2. 10
3.5

4. 10.5

Correct Answer :-

13) What must be added to 9x> - 30x + 22 to make it a whole square? / U 'l]:Uf CUKCIEE:g ﬁl’[{
9x2 - 30x + 22 ¥ fHa=T SeAT Sawa® g2

1.3
2.6
3.2

4. 14

Correct Answer :-

e 3

14) Ganesh and Bhima can complete a work in 6 days. If Ganesh alone can finish it in 10 days,
in how many days Bhima can complete the work? / TTIRT Td WHr 6 ﬁ:ﬁ T Udh W'II{T Xy
Thd g1 afe oI srhdl 8 10 feY & 39 $TH &) GHIW B JHhdl ©, d 39 STH I Hiar
fpaa fat & T R qpar 32

1. 18



2. 14
3.12
4. 15

Correct Answer :-

« 15

Topic:- General Logical Ability

1) A gets Rs. 33 when a sum of money was distributed among A, B, and C in the ratio of 3:2:5.
What will be the sum of money? / AP 33 Fﬁlﬁ,\_ﬂ_@'@'mﬁTA, B, AMRCH3:2:5%
3quTd # faafika &1 7181 & Y=R1R1 = ghfte

1. 111
2. 110
3. 121
4. 99

Correct Answer :-

« 110

2) A shirt costs Rs. 350. If the cost is increased by 10%, then the new cost will be: / T aﬂﬁ\_tl

P @1 350 3= 8 | TFE AN 10% d g7 <t 5, o) 18 & ghft:
1. Rs. 365 /365 &
2.Rs. 385 /385 &
3.Rs. 370 /370 =

4.Rs.360/360 =

Correct Answer :-
e Rs.385/385%

3) Find the distance covered by a train moving at a speed of 90 kmph in 10 mins. / 90 fodt ufa

HUS B AT IR ATAT B X1 IS gIRT 10 fite & ag 3t 715 gt A1

1.15m/15 3



2.900 m / 900 H
3. 900 km / 900 T HT
4,15 km / 15 Tt

Correct Answer :-

« 15km/ 15 fodil

4) 42 is what percent of 210? / 42, 210 BT fa ufa=ra %?
1. 20%

2. 15%

3.22%

4. 25%

Correct Answer :-

e 20%

5) Kamlesh remembers that his brother Suraj's birthday falls after 29" October, but before 5t
November, while Sheetal remembers that Suraj's birthday falls before 315 October, but after

20" October. On which date does Suraj's birthday fall? / HUAY B 1S § 5 3T ’J-I'I'Q;W
BT THIE 29 TEER b d16, T 5 IR U Ugd ATdl §, TaiP Had 1 a1g & 16 It o1
ﬁn TR A UGH, U 20 FgaR P qIG 3ATdT 2 | 3o b1 Sl fobs famiias a1

1. 29t October / 29 3fAgER

2. 30™ October / 30 AR

3. None of the above / dq{idd AR |
4. 315 October / 31 3ageR

Correct Answer :-

« 30™ October / 30 3{FEER

6) Which letter should be 7th to the right of the 12th letter from left, if first half of the alphabet

series is reversed?/qﬁﬂ&ﬁmmmmmﬁ %mm%a‘r‘qﬁﬁ 12%"ar&r¢%?



R | 791 3R B IT AT TIRY?
1.V
2.T
3.P

4. S

Correct Answer :-

S

7) Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / F14 f&0 T IR vl & A FI9 91 T 1 33 T ud & UheH JHH 51 82

Sp. Z o.0. Janki,
ul. Falencka 1B,
05-090 Raszyn,
Poland

i. Sp. Z o.0. Janki,
ul. Falencka 1B,
05-090 Raszyn,
Poland

ii. Sp. Z o.0. Janki,
ul. Falencka 1B,
05-090 Razzyn,
Poland

iii. Sp. Z o.0. JanKki,
ul. Falencka 1B,
05-090 Raszyn,
Poland

iv. Sp. Z o.0. Janki,
ul. Falencka 1B,
05-090 Raszyn,
Poland

1. 1ii

2. 1v



3.1
4.1

Correct Answer :-
e 11

8) If PARTICLE is coded RCTVKENG, then how is SCIENCE coded? / qﬁ' PARTICLE &t

RCTVKENG | ®f&d forar oIt 8, 9t SCIENCE & &9 Difsd fbar S
1. TBJUOMF

2. TDJFODF

3. UEKGPEG

4. QBSUDMF

Correct Answer :-

- UEKGPEG

9) The series given below contains a sequence of numbers. Identify the incorrect combination. /
= €t 7% o A v HH H G-I IufRid 7| Ted SaielE ugn-e|

5,6,7,8,10,11, 13,15, 19

1. 19

2.7

3.15

4. 13

Correct Answer :-

« 13

10) The average age of the 27 girls in a class is 13. The teacher is 41 years old. What is the

average age including the teacher? / U D&l H 27 Flsﬁﬂﬁ 31 3 S 13 %I SeATUDT Bt
AT 41 94 B | SATIDT I FArars fia Sy T ghft?

1.27
2. 14

3.20



4.34

Correct Answer :-

. 14

11) Tap A fills a tank in five hours, Tap B fills the same tank in fifteen hours, and Tap C empties
the tank in ten hours. When all the three taps are opened together, the tank will be filled up

within: / Td A, TP 2P B! UTd gUS] A YT €, T B I 3P P! UEE UUe] A HRAT ¢, 3R
94 ¢, I} &P B ¢ guel A Wrell HdT 8 | 59 d1F) &b U A1y WA SId €, ) 8 ga
el § YR SR

1. 10 hr/ 10 90

2.6hr/6 g0

3.3 hr/3 YU

4.5hr/5 90

Correct Answer :-

« 6hr/6 TUC

12) Evaluate 555 x 444. / 555 x 444 &1 U fA@1iQ]
1. 246520

2. 244620

3. 264420

4. 246420

Correct Answer :-

e 246420

13) In a certain code language, dra sonc fert means win my heart; brip seda sonc means famous
heart surgeon. Which is the word for heart in that code language? / 3t @™ B HTET ﬁ, dra

sonc fert dT HAAd % win my heart; brip seda sonc ®T Hddd % famous heart surgeon| 39 CAE
UTHT & heart & foTT DI A1 25 82

1. sonc

2. fert



3. brip

4. dra

Correct Answer :-

14) A number is such that the product of its digit is 12. When 36 is added to the number, the
digits get reversed. What is the number? / b T 39 YPRR % % 3T 3iwl BT MorA®d 12
2| ST T=T H 36 SITST ST §, o 3 SIehiid 8l oiTd € | | 1 872

1. 34
2.43
3.62

4.26

Correct Answer :-

Topic:- General Science

1) Identify the organism which ingests food without the mouth? / 3 EiCKal q?ﬂTﬁ'Q, EICEI
TG & Ui oI FrTeran 82

1. Amoeba only / 4 sreftar

2. Cow only / s g

3. Both star fish and amoeba / ARTHIT 3R 3iaT ST
4. Starfish only / Rt armE

Correct Answer :-

« Amoeba only / s aftar

2) Leaves are reduced to spines in deserts. This adaptation helps desert plants

./ ufxrai IR o Pt a1 oAl 8 | 98 e A SR | Ul 3
o PRaT B

1. to increase rate of photosynthesis / UhIRI BESMUEI LD EIE'Ie[ =l




2. to increase the size of the plant / I & SMHR DI g™ Hl
3. to protect from the predators / RYE § saH A
4. to reduce water loss / T @1 HH! &I HH B H|

Correct Answer :-

o to reduce water loss /Uﬁﬂ’ﬁﬂﬁﬂﬁﬁl

3) Cottony white or greenish thread like substance found on old bread is due to attack by which

of the following organism? /WW% (a:";) TR UTIT ST 9Tt SuTe %?rmgh‘cr T
T yerd, e Sftal & 9§ f5ad gRT50d & SR Ea1 82

1. Virus only / dhad ﬁ'qTUl

2. Fungi only / PHad Hab

3. Bacteria only / dad \_rﬁaTUI

4. Both bacteria and virus / GﬂaTUl 3R ﬁw Gl

Correct Answer :-
« Fungi only / $ad HddH
4) Which is the INCORRECT statement given below?

Mercury is used in thermometers because JAR %q Iy HYF A T B 9T Tead % I
URe, Y A sua fraremarg, ®ifee |

1. it does not expand on heating / g Tlff H R IR Tsﬁ Eﬁ?ﬂ

2. it does not stick to the sides of the glass tube / g g AfrdT P fHARI TR H%ﬂ%mw %

3. it is easily visible as it is a shiny metal / g ST I ﬁ@]ﬁ Gl | % it Yo dHH QR UIg %
4, it expands easily with rise in temperature / g dYHI | Q’@ & Y AT T YR @Tﬂ %

Correct Answer :-

« it does not expand on heating / g T % R yaid el giar

5) Which of the following is NOT an adaptation found in the animal mentioned? Fradd P
T ST STHaR | U 91 aTel g el 8?2

1. Red-eyed frog stick pads on feet/ ¢l 3} aTd Hed & W R few U




2. Toucan sharp, long beak / Eaﬁ Gl ﬂﬁ'ﬁ?ﬁ, GEICIE!
3. Monkey’s long tail / S &1 el &
4. Monkey’s sharp claw / G & W LS|

Correct Answer :-

» Monkey’s sharp claw / S[ebd & W uol

6) The passive movement of substances from a region of high concentration to a region of lower

concentration is called ./ 3 W a7 833[ ﬁ ﬁl’H W % 833[ 'el Wﬁﬂ'ﬂ
fferg nfe wgard 8 |

1. displacement / faeyo
2. dialysis / 3TAg"

3. diffusion / faERT

4. osmosis / YT

Correct Answer :-

. diffusion / fagRoT

7) A special kind of carbohydrate which can only be digested by ruminants is ./ GPh

T {5 P PreleEse, Sl dad AHRAGN gRT Ui fear s gedar g, 2l

1. sucrose /W
2. glucose /‘@_\,ﬂ
3. fructose / Thara ol

4. cellulose /@ﬂ?ﬁq

Correct Answer :-

« cellulose /@ﬂ?ﬁﬂ

8) The season in which frogs reproduce is ./dg HaH forgw Hed ysi=a #d %,
gl

1. autumn / UdlS

2. summer / YTSH




3. winter / 2fd
4. monsoon / HI{A

Correct Answer :-

« monsoon / HIY

9) The best time for weeding is ./ ﬁlTFi: @%TI') » ﬁI'Q 9 33T I9Y @?IT %
I

1. before the weeds produce flowers and seeds / YUl & gy QH CIS] G_CCITEH CRCE:| tl%@[

2. when the weeds have produced flowers and seeds / SId YTUId EEC[Q‘q’ ot T Sdlqd hX ad %
3. when the weeds have multiplied to the maximum / SId YTHUTd Wﬁ?{%
4, as soon as weeds begin to appear / oy B g gurd lé@lé o @

Correct Answer :-

+ before the weeds produce flowers and seeds / UTHUTd & q9 Ud dIS IdTfed B 4 ugd

10) Tin cans, used for storing food, are made by electroplating tin onto iron because

./ Wi ¥fed S & e wgea g1 e e & fesai sl ale R
fe & fagaq-<u= gRT o= ST 7, i

1. it makes the vessel lighter / qﬁrﬁmmﬁ%%m
2. it makes the vessel cheap /Wﬁﬁ@qﬁ%ml

3. tin gives a shiny appearance /%WWW?{H{%I
4. tin is less reactive than iron /?ﬁ%ﬁwﬁﬁqm Gﬁmmél

Correct Answer :-

« tinis less reactive than iron /@%ﬁﬁﬁﬁqﬂ ffiforariia el g |

11) To produce electricity on a small scale, electric generators use /BRIWAWR

faguq dTSdET w1 & fog, fagaqamver . STSua SRarg!
1. diesel / ST

2. fuel oil / S A

3. petrol / USIdl



4. kerosene / ﬁl@of B dd

Correct Answer :-

. diesel / SO

12) The part of ship that always remains under water . / STgTSl o1 98 fe=n

ST R U & A Igar g, |
1. does not rust because it is salt water / ST qﬁw %, Fifds o @WRT Eﬁ?ﬂ % |
2. does not rust because it is cold water / ST -Tg] b sdl %, Fifd Maora Eﬁ?ﬂ % I

3. rusts faster because it is salt water / SI7T ol Uhsdl %, RN o @RI Eﬁ?ﬂ % |
4. rusts faster because it is cold water / ST cIoll & b odl %, i Ldod Eﬁ?ﬂ % I

Correct Answer :-

« rusts faster because it is salt water / ST clofl 9 Uhodl %, i o @RI Eﬁ?ﬂ % |

13) When the amplitude of vibration is large, sound produced is ./ oTd DY BT
3T ST B1aT 3, df @&fy Iaure, BT |

1. loud / Udcl

2. feeble / &T0T

3. shrill / TH&TT

4. no relation between amplitude and sound / 3{TITH 3R wﬁr%aﬂaaﬁs‘wmﬁ

Correct Answer :-

e loud/YUdd

14) A piece of transparent material which has one or two spherical surfaces is called

/ TP q1 3 MATHR gl arar UReRif ugrd &1 U® ghel CELSIGI
1.mirror/3d:UT
2. concave mirror / Sddd E'EfUT

3. convex mirror / 34 E"CTUT
4. lens / @ﬁr

Correct Answer :-



« lens /9

Topic:- General Computer

1) WAN stands for: / S&IUTA $T IUf =1 §:

1. Wireless Area Network / GIBRGE 1Q'R"EIT Scdd
2. Wap Area Network / g WW

3. Wide Area Network / dISS Qﬁtﬂ Jcdd

4. Wide Array Net / 313_6'@%

Correct Answer :-
e Wide Area Network / dISS QI?EII ELGED

2) To convert a hyperlink e-mail address to regular text, right-click the e-mail address and then click

______on the shortcut menu./wmﬁﬁ@ﬂﬁmmﬁmmﬁ%%@%
TSH RIS fFad s iR f adweAgwR  feRae o3|

1. Edit Hyperlink / Tf&C BTSURfeieh

2. Select Hyperlink / Jaide gRWId®
3. Convert Hyperlink / FHac RECRNED
4. Remove Hyperlink / ﬂ_ﬂﬁ RECNNED

Correct Answer :-

e Remove Hyperlink / ﬂ_&a’ EENKEa

3) An area of a computer that temporarily holds data waiting to be processed is ./ PRYCR

198 &7 o f ufsraifad 811 & U gauik &2 32 S1eT 3 SRl T U A 7@ g,
FEAAI g

1. File / Tgd

2. CPU / GiUlg.

3. Storage / TR
4. Memory / THRY

Correct Answer :-

e Memory / R



4) CD-ROM stands for: /wﬂéﬁwm q:Uqu %:

1. Compactable Disk Read One Memory/ﬁwmﬁgmw
2. Compactable Read Only Memory /ﬁﬁﬂ%ﬂﬁﬂg ST AR

3. Compact Disk Read Only Memory /ﬁﬁ?%@ﬁg Gmw

4. Compact Data Read Only Memory/ﬁﬁﬂf@aﬂg STl AR

Correct Answer :-

e Compact Disk Read Only Memory /Hﬁﬁﬂf%@ﬁg 3fTTel AR

5) What does Ctrl +Shift ++ key effect? / Ctrl +Shift ++ @1 T Foil oM A fF W= YHTT Ugar 82
1. Uppercase / RHY
2. Superscript / WE

3. Subscript / BEIRE2Y
4. Lowercase / AI3R®Y

Correct Answer :-

» Superscript / W

6) What is the default font used in MS-Word 2007 document? / THTH T8 2007 Siegdc ¥ fv fEwiee
Wi T TANT fomaT STaT 32

1. Calibri / BTeTsT

2. Arial / TRT

3. Preeti / Widt

4, Times New Roman / CIgH Q{Lﬁ'q:f

Correct Answer :-

« Calibri / Pfers

7) The cell reference for a range of cells that starts in cell B1 and goes over to column G1 and down to

row 10 is ./ AT D TP 31 & foTT a8 A YB— oft 9 Bl H Y= §IH HIAH G1 qH
STt a4 AR ?0 (dfe) 10 96 S 21

1. B1;G10



2. GI-G10

3. B1.G10

4. B1:G10

Correct Answer :-

« B1:G10
8) The quickest way to create a MS-PowerPoint presentation is to use the ./ THIY-
Ulav@rse UoleM §91 ST Had a9 il BT THIATA PRAT |

1. Word for windows templates / ﬁ:‘ﬁﬁf étqﬁ’c' 35 1%‘]? aé
2. Auto content wizard / 3{Tcl dec fAviTs

3. Auto creation wizard / 3fTel fa?Q'-‘{F‘l ﬁ\—rﬂé

4. Presentation wizard / USICRM ﬁ\_lﬂé

Correct Answer :-

« Auto content wizard / 3ifcl dcc ﬁﬁﬂ?f

9) What is the easiest way to place same graphic in same place in all slides? /a W'IEE.'T ﬁ@ g’f R

W AT R I PT I ST ARIHT T 82

1. Place graphic in Slide Master / TIlgS HIXCX | Ifthh T

2. Place graphic in Notes Master / :hw HRER | A1fheh I

3. Place graphic manually in all slide / e &l gyt s o ﬁﬂ\’rﬁﬁ RECEIN

4. Place graphic in Handout Master / 88 3{T3¢ HReR H Wb G|

Correct Answer :-
« Place graphic in Slide Master / T3S HREX H AT G|

10) Which of the following is NOT an option in the spelling dialog box? / =1 A 4 o9 O1 faeey
R SraanT sted & T gran 82

1. Edit/ Tf&e

2. Ignore / sj:hT

3. Ignore all / sﬁﬁ? ffd

4. Change / ES|



Correct Answer :-

o Edit/U Sc

11) Which of the following is NOT a feature of MS-PowerPoint? / fadaa Cac k)l @W—ﬁﬂ?ﬁ'@?
BT AT TSI B2

1. Printing the speaker’s notes along with slide images / ¥l S sﬂTtﬁ & 1Y Wiy e fife H1

2. Printing transparencies / fife m

3. Linking a slide transition with a laser pointer / U @l\_SN Wrgel & g1y ENIESS) ?:Iﬁl's{l:f P! o BT
4. Drawing with a pen / U PEE SIS DA

Correct Answer :-

» Linking a slide transition with a laser pointer / Yd» AR WS & 1Y WeS qi TR 1 e BT

12) Which of the following is NOT the Section Break Option? / fgdaa P T AR 5 AT
T2

1. Next Page / e U9

2. Even Page / gd1 bE|

3. Previous Page / Uifaa 0w

4. Odd Page / 3 U

Correct Answer :-

« Previous Page / Mifdaq U

13) What term refers to a specific set of values saved with the workbook? / Cack:| Yog aﬁﬂ? s

T fHd gu aHl & fafkre Je &) efifa wwarg?
1.Range/§ﬁf
2. Trend 1ine/a'_€>'a'|3:f

3. What-if analysis / G8Tc-30 TATIAIRTT
4. Scenario /w

Correct Answer :-

e Scenario /w



14) When you link data maintained in MS-Excel workbook to a MS-Word document, the word

document . / 919 3{TY THUY-UFd 9 gP & ddR SIel ®| THUH-d8 Siagie I
foie PR g, a‘r'q'éte."l%lq;ﬁz |

1. contains a copy of the actual data / T grdfa® STel &1 gfafery gidt %

2. contains a reference to the original source application / A grdfae gt Q‘f’ﬂaﬂﬁ DI Q:i?("l-f ﬁ‘%ﬂ Eﬁ?ﬂ %
3. must contain a hyperlink / H 8T3UR oids BIHT AT

4, cannot be edited / U Sc q’ﬁﬁﬁv_ﬁﬂ\?ﬂW%

Correct Answer :-

» contains a reference to the original source application / A grdfae ad thnlav-‘zld Wﬂ'c{ﬂ-f Iﬁl%a Eﬂ?ﬂ%

Topic:- Civil Engineering

1) Match the list—1 (Boring methods) with List — IT(Field conditions) and select the
correct answer using the codes given below the list:/ 'ﬁ?ﬁ —1 (@er afEEn

&1 & -2 (Fres Fufeh) & Frae $1 awr gt & #7 o v
IS I ITART FIT §U TEl 3ot T T TIF &

ListI List II
a. Auger borimg/ FHOR afaT 1. Below water tablein all soil types
except hard rocks /| o Tl &r
BISH W TFR &I AR &
sHIF-STer T =
b. Wash boring / @RI @ 2. Large diameter boreholes over

150mm in size /| HGR 7 150
AL & A fEle =arg aer aare

c. Percussion drilling / TRATST 3. Explorations for shallow

fafsmr foundations and Highways / 3%7¢]
3TIRT T 329 ARl 8 Heawoh
4. Boulder and gravelly strata /
Femed Td aoTiHd T

l.a—1,b-2,¢c—4&3
2.a-3&1,b-2,c-4
3.a-2,b-3,¢c-4&l1
4, a-3,b—-1,c—4&2
Correct Answer :-

e a-3,b—1,c—-4&2



2) The table below shows Marshall mix design criteria for bituminous
concrete. Identify the correct specified value for the test property. /

et aferenr & Tagfaae dde & v #ndter AT Basa
AES Yaidd foham IR 1 qoRe 9dmoT & fore @er et

# &1 ieed S
Test property { THETOT Specified value / fafgee A
P) Marshall stability. kg 1) 75t085 / 75 ¥ 85
| #eTe Turidicd, foham
Q) Flow value, 025 mm units / 2) 340 (mnimum) / 340
qate A, 0.25 fA#HT gfee (=)
R) Air voids in total mix, V% / 3) 3.5 /3¥5
el TEpIoT A Ay Nerda,
Wit
5) Voids filled with bitumen, 4) Swl6 /8T 16
VFB% / fag#= & ol g%
Readr, vFB%

1. P-1,Q-2,R-3, S-4
2.P-2,Q-4,R-3,S-1
3.P4,Q-2,R-1,S-3
4. P-3,Q-1,¢c-R, S-2
Correct Answer :-

e P-2,Q-4,R-3, S-1

3) Whenitis not possible to chain round the obstacle, the equation for the
below figure is given by: / Jd HaUE & IR AR ﬂEﬂT of SATT
THG =61 Gl &, ad (el & & fore ¥ aamse:

e

, AB=VACT+BC?



2 AC=VB(C? + AB*?

3 AC=/BC? — AB?

4 AB=/AC?—BC?

Correct Answer :-

. AC=VBC? - AB?

4) The probable width of septic tank is ./ '\aﬁ? éﬂ? CARANIEG ?ﬁ?ﬂg _Eﬁ_cﬂ %l
1.60*102 m

2.65%102 m

3.20%102 m

4.15%102 m

Correct Answer :-

5) Surveyor compass works on the principle of: / JIR v AT Rrgiamw BT HIAT %:
1. Magnetic bearing system / Afew 9afe Ren

2. None of the above / STRIGd & I ﬁ‘é :@)[

3. Whole circle bearing system / U;Uf dod ST Rieq

4. Quadrilateral bearing system / a?ﬂsﬁm ST Riew

Correct Answer :-

« Quadrilateral bearing system / FATSIciexd SR ReH

6) An estimate which is prepared on the basis of any of the approximate methods e.g., plinth
area of the structure, cubic content of the structure, number of units, etc., for quick assessment

of the cost is called as_./WWﬁ%ﬁWW,W%WWW
@iy ufvan, e &1 e $ic, IHsal FI WET AT, F ATYR W IR fHar g,
WRTd &1 gd Yedid HEaEr g

1. Preliminary estimate / RIYD SHTeheA



2. Detailed estimate / fa%qn S{h el

3. Revised estimate / W&Iﬁ STh -

4, Supplementary estimate / ‘{-iljjcb SICINE

Correct Answer :-

 Preliminary estimate / RIYD 3HTeheH

7) In design of any steel structures under uni-axial loading, the ratio of lateral strain to

longitudinal strain is ./ W&‘ﬁ'q YRUT & Sfeifd W@ﬁ%mﬁﬁﬁzﬁs‘—rﬁ,
i fapfa o1 erge e Rpfa A sgura HEATT 3|

1. Axial strain / 31&id faepfd

2. Slenderness ratio / TS~ Bl S{uld
3. Shear strain / U=YU[ ﬁ?ﬁf

4. Poisson’s ratio / IR [ SHJUId

Correct Answer :-

« Axial strain / 37&fT m

8) Streamlines are straight and parallel to each other and perpendicular to the plane of the

orifice is known as /Wﬂ%ﬁ%ﬁawgﬂ%%mﬂmﬁﬂ%ammuﬁmu
ifra & aa & sficiad a1 & st sG]

1. convergent / SR

2. divergent / SORY

3. vena contracta / 91 ao—\lléTET

4. external mouth piece / dl&J H@W

Correct Answer :-

. vena contracta / A1 WT%TET

9) In a pitched roof, the acute angle formed by the intersection of two slopes is called

as ./ al Bd H, 3 gal & ufasdeq A Fffa == For PEATd 2|

1. barge boards / qEiy Us (Eﬂﬁfm
2. pitch of truss / ¢ T g (fT i1 W)



3. valley / 91t (@)
4, ridge / hCh (ﬁﬁ)

Correct Answer :-

« valley/ o1t (é—a)

10) In a triangular channel section, the most economical section is achieved when slopping sides
make an angle of with the vertical. / T ﬁ'ﬂ,\_rl'ﬁ?l? ATd qﬁ@?{ ﬁ, Haffere I
Uity a9 UTwd BT ST AT 8, STd edT arell A15S P1 HI0T 4T 2|

1.90°
2.45°
3.60°
4. 30°

Correct Answer :-

o 45°

11) In an average, how much percent water by weight of cement is required for complete

hydration of Portland cement? / Uidds die & 'lIUf Sadre & ferg, e & YR & foaq
IR STd B STaRadar Sia gl 82

1. 73%
2.31%
3.23%

4.57%

Correct Answer :-

e 23%

12) Hydraulic mean depth is also known as ./ ST AT T8RS @m
e ™) &t I A Y ST ST 8|

1. Hydraulic radius / Sy B (‘5’@@% m
2. Hydraulic depth / STeiIg TR (EE‘@W )

AN

(e : (o C g
3. Hydraulic length / STcild ¢alTg (BTRGIICI oY)




4. Chezy’s depth / TSIl D1 TGRS (vl SW)

Correct Answer :-

« Hydraulic radius / STC1d AT (B3 9Ied I ST)

13) A T-beam behaves as a rectangular beam of a width equal to its flange, if it is neutral

axis ./ T T- S 3 Felol &b SRR ASTS D1 AMAATSR S1H ST SATER0T Sl
8, afe 9% Sarii argf |

1. remains within the flange / tl%\_rf *F HiaR Yedl %’

2. remains below the slab / @a & = Yedl %

3. co-insides the geometrical centre of beam / 9 & SOy W & IIY-g1Yy HiaR %
4. none of the above / maﬂ e ﬁs“ :i_Eﬁ

Correct Answer :-

 remains within the flange / ool & HiaR edl %

14) According to Indian scenario of SCC, which grade of self-compacting concrete is used for

columns? / SCC%WW%W,W—WWWﬁWﬁQﬁ?W%
WUl & forg yged gaT 82

1. M70
2. M53
3. M20

4. M43

Correct Answer :-
« M70

15) Venturi flume is a device which is use to measure: /a.ﬁ'\& TegH Uh fSargw 8 e
SUYURT YD1 AU P & fore fmar S 8:

1. Hydraulic energy / e Bl
2. Hydraulic jump / ey S
3. Coefficient of friction / THUT &I 0Tk

(o

4, Discharge in open channel flow / 30T < d Udie | g




Correct Answer :-

« CoefTicient of friction / ‘a'@fUT Gal 1:[UT]$

16) A deep seal trap which is provided on external face of wall for disconnecting the wastewater
flowing from Kkitchen form, bath form, etc., is called as ./ dg exT GG a'lT, IELEA
SR IaR & d1edl gea WR, fora=, aruey sarfe & fAae aret srafree sra ot faaifora
31 & fore fpar Sman &, CERIGIE

1. intercepting trap / Wﬁﬂ é:q
2. gully trap / ﬂv_vﬁ é:q

3. silt trap / Riee E‘C[

4. grease trap / DS %:q

Correct Answer :-

« gully trap / JIW“ E'C[

17) Characteristic design load is equal to ./ Sifrererfore Srfifeed UR &

IR BT 3|

Mean load / HIET A
ksl ksl

1.
2. Mean load + floor finishing load / HI®] HIX + IR AR e
3. Mean load + k*S / HI®S HRR + k*S

4. Mean load - k*S / HIYT HIR — k*S

Correct Answer :-

e Mean load + k*S / AT HIR + k*S

18) In steel structures, the maximum axial compressive load “P” which can be allowed on a

compression member is: / Ha ot gl ff', ot H’tﬂ?ﬂ? e IR FITII\%QT CIkCE
qrel fean dfe® UR “P~ §:

P=o,_*2.54



2.

P=g__A
3.

P=2g,.4
4.

Correct Answer :-

P=g__A

ac

19) Strain in steel reaches its ultimate value earlier than strain in concrete is called as
/polc o fiplFIgad o s el waRAaAwRugam ﬁ?ﬂ?ﬂ%l

o\

1. over reinforced section only / R aifa yefea uReeg

o

2. under reinforced section only / R 3req yaferd uf =G
3. all of the above / SURIST T

4, balanced section only / Ryt \Lig,i?m U<

Correct Answer :-

o\

« under reinforced section only / R sreq gafera of

%

20) Granite and rhyolite are examples of which of the following? / m GE ﬁ'ﬂﬁm = d
¥ fpueT IeEru 32

1. Sedimentary rocks / 3T A

2. Stratified rocks / TR Jd

3. Igneous rocks / 3T R

4, Metamorphic rocks / TRl A

Correct Answer :-

« Igneous rocks / 3T R

21) In road estimation, the earthwork is estimated for lead for distance and lift for

height. / G8® & MTHA H, 9 (3dadh) &1 3ha- gl 8g e aurSas g
foroe & fore fpar wiTar 21



1.30m, 1.5 m
2.30m, 1.75 m
3.25m, 1.75 m
4.25m,1.5m

Correct Answer :-

e« 30m, 1.5m

22) Windows where shutters open like doors are termed as__ . /a Rasfei, o =1ex
TS & S G &, wgardl g |

1. pivoted window / BIafhd RISH! (UTZalCS fdan)

2. casement window / ARG aTell fASH! (BRI TSN

3. sliding window / qUf Raga! (TSiET faeh)

4. louvered window / FRIGER SH! (@IS S )

Correct Answer :-

« casement window / TRGe aTelt fasa! (%saﬁ? ﬁ@f)

23) Area of window opening should be about of the floor area of the room. / fa8Y SufaT

P1 &TPd, P P B P ATBd BT g1 TR
1.2.5%
2. 15%
3. 1.5%

4.25%

Correct Answer :-

« 15%

24) Which type of irrigation structure is installed when bed level of river is quit higher than the

bed level of the canal?/ﬁﬁq?ﬂma@aaﬁ,wa?agaaﬁﬁa@ﬁwm%wm
UpR $ RiErg =1 &1 fAwfor far smar g2

1. Level crossing / JHA URU[



2. Aqueduct / EREIE] @ﬂ
3. Super-passage / W-a@\_rf
4, Fall / Udd

Correct Answer :-

 Super-passage / W-a@ﬁ

25) Which of the following is used as a standard orifice? /= § A fraer SuahT KeE
AT & =u & forar SIran 32

1. Submerged orifice / A= Siikfthy

2. Sharp-edged orifice / TTEU-HR MR
3. Re-entrant / 3{d: Ta=ft

4. Drowned orifice / TSI SATRY

Correct Answer :-

« Sharp-edged orifice / TMEUT-DR AR

26) Which of the following fluid is incompressible and is having no viscosity? / L=k Rk ar

T AR SIS 3 U1 SR AT 78 gielt 82
1. Real fluid / AT&I(deb TR

2. Non-Newtonian fluid /ﬁ?-?l?:ﬁ?ﬂﬂ'

3. Ideal fluid / 3R TR

4. Newtonian fluid /TCE_"F[T'IW

Correct Answer :-

. Idealﬂuid/\"ﬂlaQi?RF'[

27) Which of the following is done in case of building new work underneath the existing

structure without disturbing its stability? / ﬁvm kg T'ﬂ%, fomm Wa'? TR &t &ifd
UEIE SURA # ¢ ST ) H31 & dra § =1 & 9 ar far wirar 82

1. Shoring / AT
2. Underpinning / JexfufT



3. Flying shores / RIS R
4. Scaffolding / ThTHITeST

Correct Answer :-

« Underpinning / Ui

28) Plywood is specified by which of the following? / Wrr;{gs ? = O A feas g1 Afdse
far Smar g2

1. Number of layers / EEGIEIRSEE:]
2. Cut length / c Ci| ?ﬁﬂg
3. Thickness / ﬁf_C'Tif

4, Density / Y

Correct Answer :-

« Number of layers / URd| ! e

29) Poise is a unit for which of the following? / WSl e 7 9 feaet Udh ?ﬁﬂg %?
1. Specific volume / fafdrse sad
2. Viscosity / GTdI

3. Kinematic viscosity / ‘{!@‘II?‘@N PUIE I

4. Mass density / UHIT Ydcd

Correct Answer :-

« Viscosity / YTl

30) Zinc or aluminium powders are used as ./ i ar Eﬂmﬁ'ﬂﬂ T3S BT STANT
& ¥U d far Srar 3

1. retarders / HGd
2. accelerators / dXh

3. air entraining agents / dIg WG HRD
4. plasticizers / WREDH BRI



Correct Answer :-

« air entraining agents / dIg WG PRB

31) Fineness modulus gives idea about which of the following? / J&HdT HIUTH e daa

fraeT faar ugrM evar 32

1. Surface area of the particles in aggregates / ST BT T o Uts d-id
2. Texture of the particles in aggregates / FHUI &I gAY H g1GC

3. Shape of the particles in aggregates / HUN DI T H HTHR

4. Mean size of particles in aggregates / BN T U T IS 3HR

Correct Answer :-

« Mean size of particles in aggregates / HUN 1 THY | IS DR

32) The rebates in the chowkhats may be taken as ./ el o @i a® fera
ST gHa1 3|

1. 20 mm to 25 mm / 20 THHT. T 25 T
2.20 mm to 30 mm / 20 &Y. T 30 fH.
3.8 mm to 12 mm/ 8 0T, 9 12 o,

4. 12 mm to 20 mm / 12 T, 9 20 foeh.

Correct Answer :-

« 12 mm to 20 mm / 12 foEt. T 20 fayet.

33) The ratio of the power developed by the runner to the net power supplied by the water at
the entrance to the turbine is known as efficiency. / CXAIgA & YA W &rr{ﬁf 3| Tl'sc e
UiaR &1 IR gIRT fawRid UiaR & oI gIRT Ut &FdT & =9 | ST SITaT 3 |

1. overall / JHY

2. volumetric / 3T
3. mechanical / TiA®
4. hydraulic / STl

Correct Answer :-



« hydraulic / EiR)

34) The pure water freezes at ./ R[& oIcl ATIH UR S ST 8
0.01=C
1.
0.11°C
2.
0=C
3.
0.10°C
4.

Correct Answer :-

0=C

35) The sanction of the detailed estimate, design calculations, quantities of works, rates and cost
of the work by the competent authority of the Engineering Department is known

as ./ STAEAVT fAURT & T Wil & gR1, fasqga smae, siftee,
OIS, HTAT Bt AR, S T R B AW BT AIPId CISIGIE

1. Expenditure sanction / oY W
2. Administrative approval / PRIRSIGE G'Iﬂjﬂﬂq

3. None of the above / dLN\IOk'I ﬁﬁ Ob\l';‘f :@T

4. Technical sanction / Teh=ilch| Tl dd

Correct Answer :-

« Technical sanction / Toh-ilch] T¥dIpd

36) The discharge equation for a triangular notch or weir is: / ﬁﬂ\_rl'ﬁ)_l? g a1 1Y BT

e oo giar e:

15 s 5
5 Calv2g* (H)>2



2 — =
= Calyf2g * ()2

2.
8 e 5
—C tan —+2g % (H)2
15 ¢ 21" g ( j

3.
3 3
Culy2g~ (H)?

4,

Correct Answer :-
8 7 e El
—C . tan —+/2g*(H)2
15 ¢ 2*\- g [ j

.
~

37) The differences in shrinkage between surface and interior of concrete results in
Peblc Bl Tdg TUT MTARD HUFT & A JHa § ¥ S BRI URUTHRGEY ghar
g

1. efflorescence / 3P el

2. crazing / 3THTA
3. segregation / ICEEISE]

4, bleeding / FdU[

Correct Answer :-

. crazing / 3TpI

38) The window which projects outside the external wall of the room is called as ./dg

fas®! vt o Ft T flarR Wl Bt 3, Heardl gl
1. paneled window / UTes fdet

2. all of the above / SUad THt

3. bay window / & fdSI

4. corner window / ﬁ:h fasr

Correct Answer :-

. bay window /  fdgt



39) The efficiency of the riveted joints is equal to: | AaTTPIferd \_rﬁ@ﬁ P gHar e & /IR

Length of zolid plate SHWT fIHEE

Diameter of revit =100 / e & S * 100
1.
Strength of solid plate T Tl T HELT g
stregth of riveted joint 100 / HE TR ITCT AIE i AR 100
2.
Strength of riveted joint " e AR e SIS o JHE b
stregth of solid plate 100/ BT THT s\ =100
3.
Strength of plate " THE Thi ATHLE e
Length of the rivet 100 / FreF FreEE R
4.
Correct Answer :-
Strength of rivetad joint . TR IR ATE ohi THE o
etregth of zolid plate 100/ BT T R\ =100
40) The support to load above the opening is known as JER® SWR, HRR & qudT
FET AT G|

1. crown / P13

2. sill / St

3. none of the above / SUFT & I q?lé:lﬁ

4. lintel / foredl

Correct Answer :-

. lintel/ foe@

41) What should be the weight of a standard brick? / U HIF®P ¢ $T HR fra=r g amfge?
1.2 kg

2. 1.5kg

3.3kg



4. 1kg

Correct Answer :-

« 3kg

42) What is the nominal size of standard modular brick-tile? / €SS ﬁl@ﬁ? fow-ega &1

Hidbfa® ST T BT &2
1.19cmx9cmx4cm
2.19cmx9cmx9cm
3.20cmx 10 cm x 10 cm

4.20cmx 10cmx 5 cm

Correct Answer :-

e 20cmx10cmx5cm

43) What is the unit weight of broken bricks? / w {E’f Cd| ?ﬁﬂg YR &7 gidl %?
1. 200%10°N/m?

2. 20%10°N/m’

3. 14.2*10°N/m?

4. 142*10°N/m?>

Correct Answer :-

e 14.2%10°N/m3

44) What is the least window opening for 30m? inside volume of the room? / FR & Hiad

30m3 3Tad- & g, sreqad fast siaf g+t arfRe?
1. 30 m?
2.3 m?
3.1 m?

4. 10 m?



Correct Answer :-

e 1m?

45) What is the expression for capillary rise? / HRABT I & ﬁ'l"'{ ol HT %?

pgd
o
1.
4ag
pgd
2.
pgd
4a
3.
a
pgd
4,

Correct Answer :-

deg

pgd

46) What is the range for diffusivity of concrete which will change temperature with respect to

conductivity? / epic B fauRumeiierar & fore ¥ ur 8 oY Hargswdr & Jay § arqH= §
uRadq sl

1. 0.04 to 0.06 m%/sec / 0.04 T 0.06 m%/sec

2. 0.001 to 0.002 m/sec / 0.001 @ 0.002 m/sec

3. 0.002 to 0.006m%/hour / 0.002 I 0.006m2/hour
4.0.2 to 0.04 m/hour / 0.2 T 0.04 m/hour
Correct Answer :-

. 0.002 to 0.006m2/hour / 0.002 T 0.006m2/hour



What is the design bond stress for M15 grade concrete? / M15 38 Hsbic & forg sifiedeq
3Tay ufdae < g g2

1. 1.0*10°N/m?
2. 1.7%10N/m?
3. 1.2*10°N/m?
4. 1.9%10°N/m?

Correct Answer :-

« 1.0%10°N/m?

48) What is the unit for standard deviation in concrete mix design? | Septe fafa fesrg i)
A faae $ g | 2

1. Mpa

2. Kg/m?

3. No unit/ﬁésﬁ's‘ﬂ'ﬁ
4. Cm>

Correct Answer :-

« No unit/ ®Ig SHTS 6!

49) What is the order of booking dimension? / §fhT S(TOTH BT v H HIT T &2

1. Breadth, length, height / t?ls,lig, Q’idl?g, &)T—II‘ES

2. Height, breadth, length / d.o'CIIé, t?l\'il%r, dqlé

3. Length, breadth, height / 01'®|I$r, r?|5|=£, \’};dlsc

4. None of the above / B'Qﬁaﬂ oy ﬁ’iﬁ =|B°r

Correct Answer :-

« Length, breadth, height / Cidl‘.f:, TTIS_I‘E:, \’;o'dl‘i(;
50) Facultative bacteria are those which: / At Trﬁa'l'Uj a 3-1% %’ ﬁl%/\_rﬁ :
1. Can survive with or without free oxygen / dd SIS o TTY T I o1 Sifdd I8 Tahd % |



2. Flourish and thrive in the absence of free oxygen / Had et Pt Jufyfa o tm?r-aa?f gl
3. Require oxygen for their survival / Shifad ?_E:'ef & 1%112 BRI B SRed Epl?ﬂ %I
4. None of the above / URIGd | & ﬁ‘% :@)f

Correct Answer :-

 Can survive with or without free oxygen / Hdd SIS o TTY T I o1 STifdd I8 Tahd %I

51) When a contractor is paid certain percentage over the actual cost of the construction as his profit is

termed as ./ 99 3peR ! frdl fafuior ) arafae @ w® Fad yfad F13aF aH &
U ¥ Yirar fear Jmar g, 9 59 FEI A

1. cost plus percentage contract / ¢TI araR gfa=rddr 3EY
2. lump-sum contract / TH Y Y

3. schedule contract / Gim Y
4. work order / BT T

Correct Answer :-

 cost plus percentage contract / ¢I[{ qrgi ufcr=radn Hﬂ_q;?l

52) If chainage of point of intersection is 1192m and tangent length is 141.48m, then the chainage of

point of curve (P.C.) is ./ afe ufaade fog &1 F8a gt 1192 . aur Tt Y ot gt
141.48 /Y. B, df b & fag (p.c.) FT T gt g

1. 1070.51m
2. 1040.52m
3. 1050.52m

4. 1060.52m

Correct Answer :-
e« 1050.52m

53) Which of the following property of rock defines its capacity to store maximum amount of water? /

ﬁaméﬁmﬁﬁﬁqmww,gﬂﬁafwmﬁmmmﬁﬁmaﬁq&m
AT 8?2

1. Texture / dTdC
2. Hardness / B3 Rdl



3. Porosity / IR

4. Permeability / URITRIT

Correct Answer :-

« Porosity / TRYdT

54) is used for ocean sounding where the depth of water is too much. / Cal

SN W% § S I W TS A9 F ¢ fpar siran € wiei arafie e gl 2|
1. Podometer / GTSHICY

2. Fathometer / Th2fIex

3. Panometer / UATHIER

4. Barometer / SRIHICR

Correct Answer :-

o Fathometer / ﬁw |ﬂ|€?

55) A chord between two successive stations is called . 33[ IR LRI & 7 SidT
A gl

1. Normal chord / STHTT SftaT
2. Successive chord / ITRICR SidT
3. None of the above /Eqﬁ q ﬁg :lgbf

4. Sub-chord / SU-SIdT

Correct Answer :-
« Normal chord / TTHTT SftaT

56) Entamocba histolytica causes which of the following disease? / T-eHHIaT fovcifafe w1 &
e I BT HRUTR?

1. Typhoid fever / CITWHITS AR
2. Leptospirosis / A RUTERal
3. Anthrax / Q_'a?ﬁ‘:[

4. Dysentery / Ut

Correct Answer :-



» Dysentery / Uferer

57) A phreatic line is defined as the line within dam section below which there are

;g?nmmﬁmum%mmﬁw*wﬁuﬁm%mm%m:ﬁ%
|

1. negative equipotential lines / FHUMHD FHGHT TETY
2. negative hydrostatic pressure / BUITHD m ald
3. positive hydrostatic pressure / YdTHD ﬁ@% ald

4. positive equipotential lines / Wﬂﬂﬁlﬁm

Correct Answer :-
« positive hydrostatic pressure / YITHD ZaRfde® a1

58) Water seal in gully traps is usually from . 'ﬂﬁﬂ' 2'5[ T giex Jia 9H=g =0 A
GEaknied

1. 50 mm to 75 mm / 50 f&rEt & 75 faeht
2. 100 mm to 150 mm/ 100 T&Et & 150 foreft
3. 10 mm to 20 mm/ 10 f&re T 20 faeft

4. 150 mm to 200 mm/ 150 FaH = 200 f&ret

Correct Answer :-

. 50mmt075mm/50ﬁ1ﬂ@75ﬁﬂ:ﬁ

59) What is the width of formation for two-lane national or state highway located in mountainous and

steep terrain? / UdTd aUT T ST 91t &1 H S-S 9T IS 1T ISTHRT 4T 3159 ISHIT & fHafor
& fore ergu=a TisTS FT Bl 87

1. 8.8 m
2.6.25m
3.120m

4,.90m

Correct Answer :-

e 8.8m



60) What is the crown height with respect to the edges to be provided in case of state highway of
bituminous concrete pavement of width 7.0 m and very high rainfall? / 7.0 | iﬁglg qUT 3raftre quf
ara fagfiqw wwie ufg o1 & wsg Iourl # ugM f5T oM ara f5aRl & def & =it Sars &
it

1. 0.07

2.0.035

3.0.11

4. 0.06

Correct Answer :-

« 0.07

61) What is the expected out turn of 12mm plastering with cement mortar? / diHe AeR & I 12

forft. & W @t "wuTfaa srf aET w82
1. 3.0m?

2.5.0m?

3. 8m?

4. 6.5m?

Correct Answer :-

e 8m?

62) A fixed stipulated sum of penalty payable by the contractor having no relationship with real damage

is known as | SPER GIRT Wﬁﬁﬁﬂ?ﬁﬁmﬁﬁﬂﬁmmm
IR 4 A TR WU TN EE,_ wEah

1. compensatory payment / Qﬁw YIdrq
2. liquidated damage / BINEEIRGRAIG
3. fixed penalty / fA0d 33

4. damage charge / gfd Reh

Correct Answer :-

 liquidated damage / gffAeifed effa



A fine sprinkle of numerous water droplets of size less than 0.5 mm and intensity less than 1 mm/h is

known as: /OSWQWWGﬁTIM@ﬁWWWWMﬁﬁﬁW
fss®ma #1 f a1 wrar 6:

1. Hail / B
2. Drizzle / T&9@
3. Glaze / ‘@I\_If

4. Fog/tﬁ\lﬁT

Correct Answer :-

 Drizzle / %Trlﬁ

64) During seepage through a soil, the direction of seepage is always: / JQI & HTeH 9§ g1 ard

SAHIUI F SR, aHqul &1 fa=m Jea Frgar gl &:
1. None of the above /3_"|'Ef ﬁ ﬁ% 7‘@0[

2. Perpendicular to equipotential lines / FafaHa Yarsf & dead
3. Perpendicular to stream lines / Wwﬁ'ﬁ & daad

4. Parallel to equipotential lines / FEfaHT T@T3f & FHHIOR

Correct Answer :-

e Perpendicular to equipotential lines / JAGYT @131 & daad

65) For effective use of alum as coagulant for turbid water, the pH should be in the range of o

ﬁw%ﬁ%%wﬁﬁwﬁ%uuﬁﬁ%ﬁ,pnﬁm il
|

1. 5-6
2.4-5.5
3.6.5-8.3

4.9-9.5

Correct Answer :-

e 6.5-83

66) A Kkind of pumping arrangement which does not utilize any outside power, and uses the principle of
water hammer pressures developed when a moving mass of water is suddenly stopped is known as

./ U YR DT UftRT UaRITY, S fH=it T8l UTS SR &1 SUURT 78} HdT 8, 3R nfasfier



Ul & SHHATH & AP 38¢ SH & BRI IU— g1 aTdl dic gHR oId & RIgid BT IUIRT HIdl
g, Fearar el

1. Centrifugal pump / @W ug

2. Air lift pump / TR fefde gg

3. Hydraulic ram / B@m%ﬁ

4. Reciprocating pump / IRoiesfeT U

Correct Answer :-

e Hydraulic ram / g@maﬂ

67) In reverse curve when two radii are equal, then the length of the curve is given by: / SchH dsh ﬁ,

W4 &l AU SRTeR gl & ol I &1 dars 39P gRI fAfdte &t =it 2:

) L=/RV

L=2RV
2,
3. L=4RV
, L=V3RV

Correct Answer :-

. L=V4RV

68) Webster’s method is used for: / dRcY Bt RAfY FTITI A=A & ﬁl’E ICRIIGH % :
1. Road marking / RERIER

2. Marking centerline of the road / HSPh D A QT B HIBT

3. Determining design traffic volume / %Trﬂ%:[ E'W EI'IVRIH »1 Ay

4. Determining optimum signal cycle / \?ﬂﬁm WW AR

Correct Answer :-

» Determining optimum signal cycle / 3HifoTH Reaa arsfara fAaufor

69) The distance between the midpoint of the long chord to the midpoint of curve is known as .

&rd Sitar & weafdg aut o & v fig & g o1 gdl, Fgard g



1. cub chord / O SiIdT

2. normal chord / JTHTT SitdT
3. mid ordinate / A HIfC

4. long chord / &I St

Correct Answer :-

« mid ordinate / A PIfc

70) The distance between the points measured along a slope is 428m. If the difference in level is 62m,
then the horizontal distance between them is J/ G gl & GUMETR A ﬁi{aﬁ LK g‘?r
428 Hiex B 1 9fe Tag ¥ 3R 62 Wiex §, 91 39 atg ot gfawr g3t gl

1. 643.48m / 643.48 HIcR
2. 423.48m/ 423.48 TR
3. 523.48m/ 523.48 IR

4.323.48m/323.48 HIcR

Correct Answer :-
e 423.48m/423.48 1:“3?

71) The smallest water content below which soil sample will not reduce its volume any further is known

as_./mﬁwgﬁawwﬁmﬁ?ﬁqmuﬁmfmmaﬁ?mqﬁmm%,
Pedldizl

1. plasticity limit / FeIdr ST

2. plasticity index / USRI WV$
3. drying limit / {[&h Bt

4. shrinkage limit / JP< SiEa]
Correct Answer :-

« shrinkage limit / Sa T

72) The device which is used for breaking large sized sewage solids to less than 6 mm size is called

as ./ AW F 93 PR aTd 311 P16 Al A H7 AMMPR a1 gps! A dis & e ygaa g
T SYHT FeaEr el

1. Aerator / dlddh



2. Grit remover / ¢ RER
3. Digester/ﬂ.qTﬁﬁ

4. Comminutor / 313?{@73[
Correct Answer :-

e Comminutor / 31?@@%[

73) The gradual reduction in value with age of a property is known as A Tufa a1 S ks 1K}
IS 44 § g 11 HiD g Fgaargl

1. revaluation / Q:Pim_"[
2. appreciation / HFQT{@
3. depreciation / HcIglH
4. devaluation / 3{dHcdq

Correct Answer :-

« depreciation / eIl

74) The construction of temporary structure to support an unsafe structure is termed as ./ TPh

SRRFE T B WERT e I F R sreuré g 31 fomfor dea@el
1. raking / {1

2. shoring / SHaal

3. elevators / STUDH

4. scaffolding / UlS

Correct Answer :-

» shoring / 2L

75) The suitable layout of a water supply distribution system for an irregularly grown town is called

as system. / ST U H T8 $& & € 5 Smyfd faawor yormelt &1 Sugad srfiimarT
WOITEH FHEardl g

1. dead end / S8 TS

2. radial / ST

3. grid iron / TS SMARA
4. ring/ﬁT[



Correct Answer :-

e deadend /S8 us

76) The maximum load per unit area which a soil can carry without yielding is known as .

frpad YR Ui 3oTE dard R g1, R Sua S agT e uadle, dgamial
1. allowable bearing pressure / SJHY [CEA KR

2. bearing capacity / [Gd® 0T &

3. safe bearing capacity / ﬁTf\&‘lﬁ feaepIur &an

4, net pressure intensity / & GId SIEG]

Correct Answer :-

« bearing capacity / fGaPIOT &FdT

77) The degree of perfection used in instruments, methods and observations is termed as .

Iuweon, fafRry iR sraeie-l § wgaa yufar @1 ife &t HgT STar gl
1. none of the above/dqadd ffﬁ Ob\lir'_ﬁﬁ

2. discrepancy / fagifa
3. precision / Clii‘{!@ﬂl

4. accuracy / YT

Correct Answer :-

e precision / tliiglaal

78) The condition which arises when the image formed by the objective is not in the plane of cross hairs
is called as ./ 9% fRfa <Y 99 3= gt @ o9 axg g1 fAffa of, wia ar & 9waa o
TN, weani

1. Centering / el

2. Telescope normal / <oy IH=T
3. Telescope inverted / <fapg 3?1%“3
4. Parallax / fGRITOR STU

Correct Answer :-

e Parallax / IEQI'(‘R STHYH



79) The water retained by a saturated soil after being centrifuged for 30 minutes by a centrifugal force

of 1000 times that of gravity is termed as ./ I YT §RT ¥ & 1000 AT DT g6 §RT 30
firTe 9@ srudfad fbu W & a1 uTfva o7 &1 CadEEIGI

1. equivalent moisture / JedHIT 3fTgal

2. readily available moisture / g ol U T U STl
3. field capacity / & YTiRr

4. capillary water / HRIDIT o1

Correct Answer :-

« equivalent moisture / JeUHIT 3 ;‘(‘ll

80) A strip footing 8 m wide is designed for a total settlement of 40 mm. The SBC (shear) was 150 kN/m?

and the safe allowable soil pressure was 100 kN/m?. Due to importance of the structure, now the footing
is to be redesigned for total settlement of 25 mm. The new width of the footing will be /40 ot &

PA ITRITIA & forg 8 1. 1S arelt f&eu e fEwrs= $ 151 SBC (3=uvr) 150 kN/m? ff iR
TRI& =T YT &14, 100 kN/m? 4TI WXTAT & HEd P BRI, 25 ). & ¥ gt & fag
Pl o f A e e g I gl s ag e erfh

1.12.8 m
2.8m
3.12m

4.5m

Correct Answer :-

e Om

81) Given the grade and sewer diameter, Santo Crimp’s table can be used directly to determine

/IS 3R HaR &1 o fear 811 W, ﬁﬁuﬁawﬁ%ﬁqﬁﬁmﬁmmw&r
IUANT fhgT ST gPpar g -

1. depth of flow / WEH%TIETI_‘QC
2. depth and velocity / TeX é 3R AT

3. velocity and discharge / CURMCAECIE]

4. velocity of flow / Ydlg BT

Correct Answer :-



 velocity and discharge / CULCARCRR]

82) A nahni trap is provided atthe ./ E il a’q _ YaH forar sman % I

1. outfall end of each house drain / T&® TR & MG & Sifaq RR W

2. head of each house drain / T® B & T & MY R

3. junction of house drain and municipal sewer / Eﬁ?j\étl TUT TTRUTIHT GIaR & SR TR
4. junction of two house drains / al Eﬁﬂﬁm@f & SRM IR

Correct Answer :-

« head of each house drain / TA® TR & g & Y R

83) A vertical joint on the face of a wall directly over vertical joints in an alternate course is termed
as ./ TP SR & BaP W T SHWER W1, Th THiaR R A SHWIR g W U e
graT g ot Fgardr gl

1. bed / 98

2. bat / o€

3. perpend / wRUS

4. mitred closer / THTS aalIoR

Correct Answer :-

e perpend / LUK

84) In a canal siphon, the flow is ./ U HTd 9% H, Udig BT gl
1. under atmospheric pressure / aTgm@:?ﬂu 3E & 3faid

2. under negative pressure / FBUIHD GId & 3fcfd

3. pipe flow / UIgY Udlge
4. with vertical velocity / @R I & Y

Correct Answer :-

« pipe flow / UIgU Udlg

85) A two-lane road with the design speed of 80 kmph has a horizontal curve of radius 500 m. What is
the rate of super elevation for mixed traffic? / 80 foei/eer srfireey Tife aret Th S1-a arett s |
500 Tt 1 &fafore T 81 fif¥a ararma & e gur S=rar ot & @ g



1. 0.07
2.0.02
3. 0.057

4.0.12

Correct Answer :-

e 0.057

86) Pipingin soil occurswhen . /Wﬁmﬂaﬁéw_l
1. effective pressure becomes zero/qlﬂam@aﬁﬁ'f%

2. the soil is highly stratified /Wﬁmﬁﬁﬁﬁﬁ%

3. the soil is highly porous/HﬂTBﬂW@fﬂ?ﬂ@?ﬁ%

4. sudden change in permeability occurs / OTITRIAT H &Wqﬁaﬁqsﬁm%

Correct Answer :-

« effective pressure becomes zero / THTA! GId PRI HSIGIE

87) The radius and the length of long chord of a simple curve are 202m and 80m, respectively. The versed

sine of the curve is_./wmwwaﬁaﬁ’ﬁﬁmaﬁﬁwaﬁ?mﬁ, SHHRI: ZOZﬁGﬁTSOﬂ’f%I
qP P TS w1 2l

1. 8m / 8H1
2. 6m / 6%
3. 4m / 4%
4. 2m /29t

Correct Answer :-
. 4m /490

88) Which of the following statement is NOT true in the context of capillary pressure in soils? / §al i

@ g F e A = A A P T FYF A 72
1. Pore water pressure is negative in capillary zone. /W-ﬁ@ﬁﬁ?ﬂ-wmwm%l
2. Water is under tension in capillary zone. /W—ﬁ@ﬁﬁ@ﬁ, Wﬁ%l

3. Capillary pressure is more in coarse grained soils. /WWIET'E[ mem%l



4. Effective stress increases due to capillary zone. / PFRIBI-HST b HRUT PTG Ufdad H Q'@ RG]

Correct Answer :-

« Capillary pressure is more in coarse grained soils. /@E‘TWIET'E[ 3ifh SR g BT B

89) Which is the most commonly used sampling for obtaining a disturbed sample of the soil? / Jal ®T

fageu wforesf wra w3 ¥ forg Haffire arm=a v @ wgaa g9 aran ufaesf | g2
1. Open pit sampler / 3T fire TR

2. Thin wall sampler / f3 ATt S7eR

3. Piston sampler / {0 YR

4. Split spoon sampler / F&&TE T TR

Correct Answer :-

e Split spoon sampler/www

90) The rate of flow of water through a soil is proportional to the hydraulic gradient is demonstrated

experimentally by: / J&T & G ofel & U4TE B! &3, STeid UGUIAT & JHIUTAT Bidl 8, SHST UHifie
¥ | UeRH & gIRT forar Sirar 1

1. Atterberg / e

2. Henry Darcy / méﬁ
3. Casa grande | BETUS
4. Terzaghi /éﬁf‘ﬂ

Correct Answer :-

» Henry Darcy / g}l S3f

91) Terzaghi’s one dimensional consolidation theory assumes that: | ST & Uh fovg dftss ﬁmﬂa &
ﬂ :

1. e vs log10p relationship is linear / e §1H log10p Wﬂ,wm%l
2. e vs logl0 = p/pO0 relationship is linear / e vs log10 = p/p0 Wﬂ,wmal
3. e vs log10 relationship is linear / e d-1H log10 Wﬂ,%@ﬁ@?ﬂ%l

4. e vs p relationship is linear /e d-[H p W‘H,Wfﬁ?ﬂ%l

Correct Answer :-



e evs p relationship is linear /e §9H p W‘H,W@Tﬂ%l

92) The coefficient of permeability of soil is 5x107 cm/sec for a certain pore fluid. If the viscosity of the
pore fluid is reduced to half, the coefficient of permeability will be: / Tdh gy Ra® ﬁ‘l’E Hal &1

;T"mmmsxmﬁﬁtﬁ/ﬁ.%l gfe 3¢ Ta &1 Tarar el H &Y I, @ IR qune e

1. 1.25x10™ cm/sec
2. 5x107 cm/sec

3. 2.5x10™ cm/sec
4. 10x10™ cm/sec
Correct Answer :-

e 10x10™ cm/sec

93) The liquefaction of loose sand is caused by: / IGRERIEG KT grqur fA= » HRO iﬁ?ﬂ %:
1. DiIancy/m

2. Sensitivity / ﬁﬂli%a
3. None of the above /Wﬂﬂﬁﬁ@fﬁg:ﬁﬂ
4. Thixotrophy / m

Correct Answer :-

. DiIancy/S'Igﬁﬁ

94) The aeration of water is done for the removal of WAUNKIGE! ﬁszﬁ%;
e frar ST 31

1. turbidity /&rriﬁw

2. colour / T

3. hardness/m

4. dissolved gases /‘{Eﬁ_g'_scﬁ@

Correct Answer :-

« dissolved gases /ﬂ?ﬁ@gﬁ@f



95) The length of the road ahead of the vehicle which is visible to the driver is called as ./ digHd *

AT FSF Bt AvaTs, BT aT6® 3@ AdHar 8, 32 FBA |
1. sight distance / €S G3I

2. safe distance / JRI&T g3

3. clear distance / Y g1

4. invisible distance / 3[€RY @

Correct Answer :-

« sight distance / G §\Pf

96) A septic tank represents an ./ '\ﬂ% P 3| E'Q'I'TT'IT %I
1. anoxic system / SR Jomert

2. anaerobic system /AT YoTe!

3. aerobic system / G EIRRRVI]]

4. oxide system / TS S YuITe!

Correct Answer :-

« anaerobic system /3ATIAIT FOM

97) The valve which allows uni-directional flow of water in a pipe is called ./ aTed fora® RO

UISU A U FTGETA THIGMAFIAE, SH__ Fed ¢
1. reflux valve / U4dTg! dled

2. float valve / 3IId dled

3. ball valve / ST dTcd

4. sluice valve / ¥gd dled

Correct Answer :-

¢ reflux valve / q%ﬁ:ﬂ@)f dled

98) In a simple tension test, Hooke’s law is valid up to the: / Tdh HTYUTRUOT aﬁm-uﬂ&rur ﬁ, TR DI
frraf A Ts o= g:

1. Limit of proportionality / SJUlddl SiE]
2. Breaking point / m-ﬁ_g’



3. Ultimate point / Siferm
4. Yield point / Afe fig

Correct Answer :-

 Limit of proportionality / S{JUIddl ESiEa]

99) Atmospheric pressure is measured by ./ GTJHUSHAIT gId &I & GRTHTYT AT 81
1. Altimeter / TeeTHICY

2. Piezometer / ToIHIER

3. Barometer / SRIHIER

4. Spectrometer / @W

Correct Answer :-

e Barometer / aﬁ'ﬁﬁa

100) Iron and manganese can be removed from water by ./ oTd | dig ok A
Ea| 3T fopaT o gpar 31

1. absorption / S[ARNYUT GIRT
2. boiling / 3dIcIh Y

3. aeration followed by coagulation / dTd- & §1G W gRI

4. chlorination / IR GRT

Correct Answer :-

« aeration followed by coagulation / dId & §1G W gRI



